
 

 

Calculus   Worksheet #7   Unit 9    page 1 ____________________ 
 

Integrate each of the following. 
 

dx = __________x(4x + 3)51. ∫   
2. dx = ___________ – 5)6x(x2∫  

 
 
 
 
 
 
 
 
 
 
 
 

5x – 1√
= ___________3.

xdx∫
   dx = ___________4. 2x + 7√x∫  

 
 
 
 
 
 
 
 
 
 
 
 

(3x) dx = ___________cos 25. ∫   (3x) dx = ___________sin56. ∫  
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Integrate each of the following. 
 

(5x – 3) dx = ___________csc 47. ∫   (4x) dx = ___________tan28. ∫  
 
 
 
 
 
 
 
 
 
 
 
 

= ___________9.
xdx

√ 4 – 2x∫
   

= ___________10.
dx

√∫ 1 – 24x  
 
 
 
 
 
 
 
 
 
 
 
 

= ___________11.
√ 1 – 2x

dx2x∫
  

= ___________12. dx
+ 1∫ 24x  

 
 
 
 
 
 
 
 
 
 


